
Algebra	2/Trig	Honors		 	 Name:____________________________________	Mod:_________________	

5.1‐5.3	Assignment	

Verify	each	identity.	Please	make	sure	to	show	all	of	your	steps	so	I	am	not	stuck	wondering	how	
you	got	from	one	piece	to	another.	I	do	not	want	you	to	loose	points!!		

1. cosሺݔሻ ൅ sinሺݔሻ tanሺݔሻ ൌ secሺݔሻ	 	 2.			
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Find	the	solutions	on	the	intervalሾ0, 	.ሻߨ2

5.								4 cos ²ሺݔሻ െ 1 ൌ 0	 	 	 	 	 6.			2 sin ²ሺݔሻ െ sinሺݔሻ െ 1 ൌ 0	

	

	

	

	

	

	

	

	

	

	

7.			sec ²ሺݔሻ െ secሺݔሻ ൌ 2	 	 	 	 	 8.			2 cos ²ሺ4ݔሻ െ 1 ൌ 0	


